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1. Use <, >, = to make each statement true.

(a) 
   …………… 0.25                                                                                  (2)

(b) -7  ……………… (-14 + 7)                                                                        (2)


(c) 
 ……………   32                                                                                                                        (2)

2. 


17;   0.768;   -4;  ;  19;  ; -5.023491;  17; From the given list of real numbers, write down the numbers which are:

(a) Natural numbers                                                                                        (2)
………………………………………………………………………………………………………………………………………………………………………………
(b) Irrational numbers                                                                                     (2)

………………………………………………………………………………………………………………………………………………………………………………
(c) Integers                                                                                                     (2)
………………………………………………………………………………………………………………………………………………………………………………
(d) Rational numbers, but not integers                                                           (2)
………………………………………………………………………………………………………………………………………………………………………………
(e) Prime numbers                                                                                          (2)
………………………………………………………………………………………………………………………………………………………………………………

3. Jane goes to a bank to change N$100 into Riyals. The bank takes $ 2. 40 and then the rest of the money at a rate of N$ 1 = 3.75 Riyals.
How much does Jane receive in Riyals?                                                        (3)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

4. (a) Given y = 4uv -3v, find the value of y when u = -3 and v = 2.                   (3)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….

(b)  If a = 2, b = -3 and c = 4. Find the value of 2ab ÷ c                                 (3)

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………....

     5. (a) Simplify: 2t – 5m – 7t + 9m                                                                        (3)
         ………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
          (b)  Solve the equation: 3(2a - 6) + 4(2 - 5a) = 18                                          (4)
           ………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………...........
           
           (c)  Factorise completely:
                (i) 15p2q – 30 pq2                                                                                                                                  (2)
         ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
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                (ii) 25a2 - 36b2                                                                                            (2)
             ………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
                (iii) 2x2 – 8                                                                                                  (2)
           ………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
(d) Toffees cost t cents each and pieces of fudge cost f cents each. Tjaa buys 8 toffees and 3 pieces of fudge.

(i) Write down the total cost, in cents, in terms of t and f.                  (2)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
(ii) Write down the total cost in Namibia dollars.                                 (2)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
(iii) Find the total cost, in N$, when t = 50 and f = 75                           (2)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

6. (a) Tom buys a cellphone for N$ 200 and sell it for N$ 150. 

(i) Did he make a profit or loss?                                                             (1)
…………………………………………………………………………………..
(ii) Calculate the amount of profit or loss he made.                                 (2)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
(iii) Calculate the percentage profit or loss.                                              (2)
…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
(b) Sabi invests N$ 10 000 at 5% simple interest per year. Calculate the interest earned after 3 years.                                                                        (1)
     ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………







oleObject2.bin

image5.wmf
8

1


oleObject3.bin

image6.wmf
56


oleObject4.bin

image7.wmf
3

27


oleObject5.bin

image1.png




image2.emf
 

 


image3.wmf
4

3


oleObject1.bin

image4.wmf
36


